Y& Maths Kvuowledae Oraaviser Topic 10: Circles

What must T be able to do? Key vocabulary
New content: Circumference | The distance around the outside of a
[ Be able o name the key parts of a circle circle.
Sparx M545 Radins The distance from the cewtre of a
[ Use the formula +o calenlate the circumference of a circle circle to the circumference.
Sparx W64 Diameter The distavce across a circle, going

throuah the centre.

0 Use the formula +o calenlate the area of a circle

Sparx M2.21 Sewicircle Half of a full circle.
[ Find the area and perimeter of fractions of a circle, . Fie Grek ietrer v Used To
including a sewicircle avd a quarter circle represent the never euding wamber
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caleulators will have a T buttou.

| Parts of a circle |+ Working with parts of circles
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Area of a sewicircle:

g%%\ The sewicircle has a diameter of dem, so the radius is 4em.

The area of a full circle: Trz = T x 4% = 50.2.654P2......

The diameter is equal +o twice +he So area of the semicircle = 50.26542... + 2 = 2543 cm? (2d.p.)
L length of the radius:

d=2r Perimeter of a semicircle:

Circumference of a circle The circamference of a full circle: md = 1 x & = 25412274.....

| The circumference of a circle is equal Circumferevce of the sewicircle (curved edge owly)

L to m multiplied by the diamater: = 925422F4.. > 2 =12.566...

C=md Total perimeter =12.566... + ® = 2057 cm (24.p.)

| Rearranging this gives us: Perimeter includes the straight edoe of the semicircle

d=C=+m

As d = 2r the circumference can also | -

i be written as:

| b Sem

; C=2mr b Area of a gquarter circle:

Commmmm T : The area of a full circle: Tr? = x 5% = 73.530P.....

. Area of a circle =

L So area of a quarter is = 7.520%.. + 4 =14.63 cm? (2.d.p.)

i The area of a circle is equal +o © P

multiplied by the radius squared The diagram shows +the

A =mr? i Perimeter of a dquarter circle: radins so d = 2 x5 =10cwm
Note that just the r is squared, ot T The circumference of a full circle: nd = 1 x 10 = 31,4159

Rearranging this gives us: Circumference of the quarter circle (curved edge only)

|2 = 2154 = 4 = 78554 Plus the 2 straight sides
; AT ; :

Total perimeter = 29530+ 5 + 5 =17.95 ¢ (2d.p.)



